Das Einsdurcheins mit 19 uben [1]

Zum grofien Einmaleins

Aufgabe 1

195 :19= () 3 6 o 8 2
2 095:19= O 5 O 6 O 4 (O 8
3 133:19- (O 6 Ot O 2 () 5
4095 :19= () 6 () 5 () 2 () 10
5. M4:19= () 8 5 o6 3
6. 133:19= () 10 O 4 O 7 o9
7oo14:19= (O 10 o9 o 3 6
Aufgabe 2

.95 :19= O 6 O 5 O 9 O 4
2. 5% :19= () 8 3 ) 5 2
576:19= O 4 O 6 O 3 O 7
4 14:19= O 6 O 1 O 4 (O 3
5. M4:19= O 2 O 9 O 5 O ¢
619 :19= O W0 O 5 O 3 O 1
o019 :19= () 8 O 3 o9
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Das Einsdurcheins mit 19 tben [1] | ANTWORTEN

Zum grofien Einmaleins

Aufgabe 1

1. 95:19=|@ ° O 6 ) 8 O 2
295 :19=| @ ° o6 O 4 ) 8
3. 133:19= (O 6 ® 7 O 2 ) 5
4095 :19= () 6 ® 5 O 2 (10
5. 14:19= (O 8 o 5 ® ¢ 3
6. 133:19= () 10 O 4 ® 7 o9
7oo14:19= () 10 o9 3
Aufgabe 2

195 :19= (O 6 ® 5 o9 O 4
2. 57 :19= () 8 ® 3 5 2
3. 76 :19=| @ 4 6 3 O 7
4. 114:19=| @ 6 O O 4 3
5. 1M4:19= (O 2 o9 ) 5 ® ¢
6. 19 :19= () 10 S 3 ®
o019 :19= (O 8 E O 3 o9
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